
Question #30923 

The lengths of a triangle measure 27, 46 and 67 cm. find the measure of each angle of the 

triangle? 

Solution.  
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Let 𝑎 = 27, 𝑏 = 46, 𝑐 = 67.  Using the law of cosines, we have 𝑐2 = 𝑎2 + 𝑏2 − 2𝑎𝑏𝑐𝑜𝑠(∠𝐴). It 
follows that  

𝑐𝑜𝑠 ∠𝐴 =
𝑎2 + 𝑏2 − 𝑐2

2𝑎𝑏
=

27 ∙ 27 + 46 ∙ 46 − 67 ∙ 67

2 ∙ 27 ∙ 46
≈ −0,66. 

Thus, ∠𝐴 ≈ 131,3𝑜 . 

By analogy, 𝑐𝑜𝑠 ∠𝐵 =
𝑎2+𝑐2−𝑏2

2𝑎𝑐
=

27∙27+67∙67−46∙46

2∙27∙67
≈ 0,86. 

Then ∠𝐵 ≈ 30,9𝑜 . 

Since, ∠𝐴 + ∠𝐵 + ∠𝐶 = 1800 , then ∠𝐶 ≈ 17,2𝑜 . 

Answer. ∠𝐴 ≈ 131,3𝑜 , ∠𝐵 ≈ 30,9𝑜 , ∠𝐶 ≈ 17,2𝑜 . 
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